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QUESTION 1

Scenario: A Citrix Engineer receives the following error when accessing content from a virtual server:
"Page cannot be displayed."

However, the content is accessible when connecting directly to the web server.

The engineer captured the traffic using nstrace and found that the amount of data sent from the web server
exceeds the content length defined in the HTTP header.

Which action can the engineer take to resolve the issue?

A. Disable Drop extra CRLF in the HTTP Profile.

B. Enable Drop extra data from server in the HTTP Profile.

C. Increase the Content length in the Application Firewall Profile.

D. Disable Drop extra data from server in the HTTP Profile.

Correct Answer: B

QUESTION 2

The NetScaler logging client server can be installed and configured to store the log for . (Choose the
correct option to complete the sentence.)

A. HTTP and HTTPS active connections on the NetScaler

B. HTTP and HTTPS requests processed by the NetScaler

C. statistics of the HTTP and HTTPS web sites load balanced on NetScaler
D. status of all the HTTP and HTTPS backend web servers

Correct Answer: B

QUESTION 3

Which two actions can a Citrix Engineer use to provide Denial of Service (DoS) protection with the AppQoE feature?
(Choose two.)

A. Simple Response
B. HICResponse

C. Denial Response
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D. Complex Response

Correct Answer: AB

QUESTION 4

A Citrix Engineer needs to deploy the NetScaler Management and Analytics System (NMAS) in their company
environment to ensure that NMAS provides uninterrupted operation in all situations.

Which deployment type can meet this requirement?
A. Active-Active High Availability Mode

B. Single-Server Deployment Mode

C. NMAS integrated with Director mode

D. Active-Passive High Availability Mode

Correct Answer: A

QUESTION 5

Which requirement must be addressed to implement the IP Reputation feature on a NetScaler MPX appliance?
A. The NetScaler appliance must be able to connect to api.bcti.brightcloud.com on port 443.

B. The NetScaler appliance must be able to connect to wiprep-rtu.s3-us-west- 2.amazonaws.com on port

80.

C. The NetScaler appliance must be able to connect to api.bcss.brightcloud.com on port 80.

D. The NetScaler appliance must be able to connect to wiprep-rtu.s3-us-west- 2.amazonaws.com on port

443.

Correct Answer: A
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